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If a person buys 3 articles for 200 rupees each then sells one fan for 20% profit 

another for 11% loss and last one for 21% profit . Find overall percentage of loss or 

profit ?

यदि एक व्यदि 200 रुपये में से प्रत्येक में 3 वस्तुए ंखरीिता है, तो एक पंखा 20% लाभ के दलए 

बेचता है और िूसरा 11% हादि के दलए और अंदतम एक को 21% लाभ के दलए बेचता है। हादि या 

लाभ का कुल प्रदतशत ज्ञात कीदिये?

1.8
2.10
3.11
4.21
5.NOT



If a person buys 2 articles for 1438 and 3595 rupees then sells first article for 12% 

profit and another for 11% loss . Find overall percentage of loss or profit ?

यदि एक व्यदि 2 वस्तुओ ंको 1438 और 3595 रुपये में खरीिता है तो पहली वस्तु को 12% लाभ पर 

और िूसरी वस्तु को 11% हादि के दलए बेचता है। हादि या लाभ का कुल प्रदतशत ज्ञात कीदिये?

1.12
2.11
3.21
4.23
5.NOT



If a person buys any article for 1900 rupees then sells 
𝟓

𝟕
part for 6% profit  and 

remaining for 8% loss . Find overall percentage of loss or profit ?

यदि कोई व्यदि दकसी वस्तु को 1900 रुपये में खरीिता है तो 5/7 भाग को 6% लाभ के दलए और 

शेष भाग को 8% हादि के दलए बेचता है। हादि या लाभ का कुल प्रदतशत ज्ञात कीदिये?

1.2% profit
2.2% loss
3.5%profit
4.5% loss
5.NOT



If a person buys any article for 2900 rupees then sells 5/9 part for 5% profit . In 

what loss or profit percentage remaining part be sold to make 4% profit? 

यदि कोई व्यदि 2900 रुपये में कोई वस्तु खरीिता है तो 5% लाभ के दलए 5/9 भाग बेचता है। 4% 

लाभ कमािे के दलए शेष भाग को दकतिे हादि या लाभ प्रदतशत में बेचा िािा चादहए?

1.3
2.2.25
3.2.75
4.4
5.NOT



If a person buys any article for 4900 rupees then sells 1/4 part for 3% profit and 1/2 

part for 4% profit . In what loss or profit percentage remaining part be sold to 

make 5% profit?

यदि कोई व्यदि दकसी वस्तु को 4900 रुपये में खरीिता है तो 1/4 भाग 3% लाभ के दलए और 1/2 

भाग 4% लाभ के दलए बेचता है। 5% लाभ कमािे के दलए शेष भाग को दकतिे हादि या लाभ 

प्रदतशत में बेचा िािा चादहए?

1.7
2.9
3.11
4.13
5.NOT



A shopkeeper calculates his profit percentage on selling price which comes out to be 

30%.What will be the profit percentage if it is calculated on cost price?

एक िुकाििार दवक्रय मूल्य पर अपिे लाभ प्रदतशत की गणिा करता है िो 30% दिकलता है। यदि 

लागत मूल्य पर इसकी गणिा की िाती है तो लाभ प्रदतशत क्या होगा?

1.30
2.28 4/7
3.42 6/7
4.20
5.NOT



If selling price of two articles is equal . If first article is sold on 25% profit and second 

on 20% loss . What will be the overall loss or profit percentage?

यदि िो वस्तुओ ंका दवक्रय मूल्य समाि है। यदि पहली वस्तु 25% लाभ पर बेची िाती है और िूसरी 

वस्तु 20% हादि पर बेची िाती है। कुल हादि या लाभ प्रदतशत क्या होगा?

1.2.5
2.2.25
3.2 18/41
4.2 54/91
5.NOT



If selling price of two articles is equal. If first article is sold on 14
𝟐

𝟕
% profit and 

second on 9 
𝟏

𝟏𝟏
% loss . What will be the overall loss or profit percentage?

यदि िो वस्तुओ ंका दवक्रय मूल्य समाि है। यदि पहली वस्तु 14 2/7% लाभ पर बेची िाती है और 

िूसरी वस्तु 9 1/11% हादि पर बेची िाती है। कुल हादि या लाभ प्रदतशत क्या होगा?

1.12
2.19
3.11
4.21
5.NOT



If selling price of two articles is equal . If first article is sold on 40% profit and 

second on 40% loss . What will be the overall loss or profit percentage?

यदि िो वस्तुओ ंका दवक्रय मूल्य समाि है। यदि पहली वस्तु 40% लाभ पर बेची िाती है और िूसरी 

वस्तु 40% हादि पर बेची िाती है। कुल हादि या लाभ प्रदतशत क्या होगा?

1.8
2.12
3.16
4.20
5.NOT



If selling price of two articles is equal. If first article is sold on 25% profit then at 

what loss or profit percentage be second be sold to have no overall profit or loss 

percentage? 

यदि िो वस्तुओ ंका दवक्रय मूल्य बराबर है। यदि पहली वस्तु को 25% लाभ पर बेचा िाता है, तो 

कुल लाभ या हादि प्रदतशत िहीं होिे पर िूसरी हादि या लाभ प्रदतशत क्या होगा?

1.20
2.16 2/3
3.25
4.21
5.NOT



If A calculates his profit percentage on cost price and B calculates his profit 

percentage on selling price such that selling price of both comes out to be equal and 

the difference of profit in both these is 200 rupees when profit percentage for both is 

25%. Calculate there selling price?

यदि A अपिे लाभ प्रदतशत की गणिा क्रय मूल्य पर करता है और B दवक्रय मूल्य पर अपिे लाभ 

प्रदतशत की गणिा इस प्रकार करता है दक िोिों का दवक्रय मूल्य बराबर दिकलता है और इि िोिों में 

लाभ का अंतर 200 रुपये है िब िोिों के दलए लाभ प्रदतशत 25% है। दबक्री मूल्य की गणिा करें?

1.2000
2.4000
3.3000
4.5000
5.NOT



If selling price of 20 articles is equal to cost price of 25 articles then calculate loss or 

profit percentage ?

यदि 20 वस्तुओ ंका दवक्रय मूल्य 25 वस्तुओ ंके क्रय मूल्य के बराबर है, तो हादि या लाभ प्रदतशत 

की गणिा कीदिये?

1.20
2.25
3.33 1/3
4.40
5.NOT



If selling price of 350 articles is equal to cost price of 250 articles then calculate loss 

or profit percentage ?

यदि 350 वस्तुओ ंका दवक्रय मूल्य 250 वस्तुओ ंके क्रय मूल्य के बराबर है, तो हादि या लाभ प्रदतशत 

की गणिा कीदिये?

1.40
2.20
3.25
4.28 4/7
5.NOT



If on selling 81 articles we get profit which is equal to 9 articles’ selling price. Find 

profit percentage ?

यदि 81 वस्तुओ ंको बेचिे पर हमें लाभ दमलता है िो 9 वस्तुओ ंके दवक्रय मूल्य के बराबर है। लाभ 

प्रदतशत ज्ञात कीदिये?

1.12 ½
2.10
3.20
4.15
5.NOT



If on selling 400 articles we get profit which is equal to selling price of 20 articles. 

Find profit percentage ?

यदि 400 वस्तुओ ंको बेचिे पर हमें लाभ दमलता है िो 20 वस्तुओ ंके दवक्रय मूल्य के बराबर है। लाभ 

प्रदतशत ज्ञात कीदिये?

1.5
2.4
3.5 5/19
4.4 2/19
5.NOT



If on selling 700 articles we get loss which is equal to 140 articles’ selling price . Find 

loss percentage ?

यदि 700 वस्तुओ ंको बेचिे पर हमें हादि होती है िो 140 वस्तुओ ंके दवक्रय मूल्य के बराबर है। हादि 

प्रदतशत ज्ञात कीदिये?

1.25
2.20
3.16 2/3
4.14 2/7
5.NOT



If on selling 350 articles we get profit which is equal to 50 articles’ cost price. Find 

profit percentage ?

यदि 350 वस्तुओ ंको बेचिे पर हमें लाभ दमलता है िो 50 वस्तुओ ंके क्रय मूल्य के बराबर है। लाभ 

प्रदतशत ज्ञात कीदिये?

1.16 2/3
2.20
3.14 2/7
4.28 4/7
5.NOT



After selling 10 candles a man earn a profit of the SP of 3 pens. While selling 10 pens a 

man losses SP of 4 candles. The numerical value of Profit % and Loss % is equal and 

the CP of candle is half of the CP of the pen. Find the ratio of SP of candle to pen ?

10 मोमबदियााँ बेचिे के बाि एक आिमी 3 कलम के SP का लाभ कमाता है। 10 पेि बेचते समय एक आिमी को 4 

मोमबदियों का SP िुकसाि होता है। लाभ % और हादि % का संख्यात्मक माि बराबर है और मोमबिी का CP 

कलम के CP का आधा है। मोमबिी के SP और कलम का अिुपात ज्ञात कीदिए?

1.5:4
2.3:2
3.2:3
4.7:11
5.NOT



A shopkeeper promises to sell its product on cost price but instead of selling 1 kg he 

uses 960 gms then tell overall profit percentage ?

एक िुकाििार अपिे उत्पाि को क्रय मूल्य पर बेचिे का वािा करता है लेदकि 1 दकलो बेचिे के 

बिाय वह 960 ग्राम का उपयोग करता है तो कुल लाभ प्रदतशत क्या है?

1.4
2.4 1/6
3.4 9/17
4.5
5.NOT



A shopkeeper promises to sell its product on cost price but uses 20% less weight 

then tell overall profit percentage ?

एक िुकाििार अपिे उत्पाि को क्रय मूल्य पर बेचिे का वािा करता है लेदकि 20% कम विि का 

उपयोग करता है, तो कुल लाभ प्रदतशत बताता है?

1.20
2.25
3.33 1/3
4.40
5.NOT



A shopkeeper promises to sell its product on 10% profit but uses 10% less weight 

then tell overall profit percentage ?

एक िुकाििार अपिे उत्पाि को 10% लाभ पर बेचिे का वािा करता है लेदकि 10% कम विि का 

उपयोग करता है, तो कुल लाभ प्रदतशत बताता है?

1.18 2/11
2.22 2/9
3.20
4.25
5.NOT



A shopkeeper promises to sell its product on 10% loss but uses 30% less weight then 

tell overall profit percentage ?

एक िुकाििार अपिे उत्पाि को 10% हादि पर बेचिे का वािा करता है लेदकि 30% कम विि का 

उपयोग करता है, तो कुल लाभ प्रदतशत बताता है?

1.20
2.25
3.28 4/7
4.21 1/7
5.NOT



1.a



1.a


